ASSIGNMENT CHAPTER 8

Statistical Methods

NAME:

M & S 357-358
(ELEMENTS)
8.11, 8.13, 8.14
M & S 363-364
(LARGE SAMPLE)
8.24, 8.26, 8.29, 8.30, 8.32
M & S 371-372
(P-VALUE)
8.48, 8.51
M & S 378-379
(SMALL SAMPLE)
8.66, 8.67, 8.68
M & S 383-386
(PROPORTIONS)
8.74, 8.78, 8.80
M & S 392-394
(POWER OF A TEST)
8.95
M & S 397-401
(POPULATION VARIANCE)
8.111, 8.113
MS 357-358

8.11
(2 points) Use of herbal therapy. According to the Journal of Advanced Nursing (January 2001), 45% of senior women (i.e., women over the age of 65) use herbal therapies to prevent or treat health problems. Also a senior women who use herbal therapies use an average of 2.5 herbal products in a year.

a. Give the null hypothesis for testing the first claim by the journal. 

b. Give the null hypotheses for testing the second claim by the journal.

ANSWERS
8.13
(2 points) DNA-reading tool for quick identification for species. A biologist an a zoologist at the University of Florida were the first scientists to test the effectiveness of a high-tech handheld device designed to instantly identify DNA of an animal species (PLOS Biology, Dec. 2005.) They used the lusks with brightly colored shells. The scientists discovered that the error rate of the device is less than 5 percent. Set up the null and alternative hypothesis if you want to support your findings.

ANSWER

8.14
(3 points) Susceptibility to hypnosis. The Computer-Assisted Hypnosis Scale (CAHS) is designed to measure a person’s susceptibility to hypnosis. CAHS scores range from 0 (no susceptibility to hypnosis) to 12 (extremely high susceptibility to hypnosis). Psychological Assessment (March 1995) reported that University of Tennessee undergraduates had a mean CAHS score of m = 4.6. Suppose you want to test whether undergraduates at your college or university are more susceptible to hypnosis than the University of Tennessee undergraduates.

a. Set up 

[image: image1.wmf] and  for the test.

b. Describe a Type I error for the test.

c. Describe a Type II error for the test.

ANSWERS
MS 363-365

8.24
(2 points) A random sample of 64 observations produced the following summary statistics: 
[image: image3.wmf] = .323 and 
[image: image4.wmf] = .034

a. Test the null hypothesis that m= .36 against the alternative hypothesis that m< .36, using a= .10.

b. Test the null hypothesis that m = .36 against the alternative hypothesis that m 
[image: image5.wmf] .36, using a = 10, interpret the result.

ANSWERS
8.26
(3 points) Latex allergy in health-care workers. Refer to the Current Allergy & Clinical Immunology (March 2004) study of 
[image: image6.wmf] = 46 hospital employees who were diagnosed with a latex allergy from exposure to the powder on latex gloves used per week by the sampled workers is summarized as follow: 
[image: image7.wmf] = 19.3 and 
[image: image8.wmf] = 11.9. Let m represent the mean number of latex gloves used per week by all hospital employees. Consider testing 
[image: image9.wmf]: m = 20 against 
[image: image10.wmf]: m < 20.

a. Give the rejection region for the test at a significance level of a = .01.

b. Calculate the value of the test statistics.

c. Use the results from parts a and b to draw the appropriate conclusion.

ANSWERS
8.29
(2 points) Post-traumatic stress of POWS. Psychological Assessment (March 1995) published the results of a study of World War II aviators captured by German forces after having been shot down. Having located a total of 239 World War II aviator POW survivors, the researchers asked each veteran to participate in the study; 33 responded to the letter of invitation. Each of the 33 POW survivors was administered the Minnesota Multiphasic Personality Inventory, one component of which measures level of post-traumatic stress disorder (PTSD). [Note: the higher the score, the higher is the level of PTSD.] The aviators produced a mean PTSD score of 
[image: image11.wmf] = 9.00 and a standard deviation of 
[image: image12.wmf] = 9.32.

a. Set up the null and alternative hypotheses for determining whether the true mean PTSD score of all World War II aviator POWs is less than 16. [Note: The value 16 represents the mean PTSD score established for the Vietnam POWs.]

b. Conduct the test from part a, using a = .10. What are the practical implications of the test?

ANSWERS
8.30
(2 points) Point spreads of NFL games. During the National Football League (NFL) season, Las Vegas oddsmakers establish a point spread on each game for betting purposes. For example, the Indianapolis Colts were established as 7-point favorites over the Chicago Bears in the 2007 Super Bowl. The final scores of the NFL games were compared against the final point spreads established by the oddsmakers in Chance (Fall 1998). The difference between the outcome of the game and the point spread (called a point-spread error) was calculated for 240 NFL games. The mean and standard deviation of the point-spread error are 
[image: image13.wmf] = -1.6 and 
[image: image14.wmf] = 13.3. Use this information to test the hypothesis that the true mean point-spread error for all NFL games is 0. Conduct the test at a = .01 and interpret the result.


Answer

8.32
(2 points) Cooling method for gas turbines. During periods of high demand for electricity-especially in the hot summer months-the power output from a gas turbine engine can drop dramatically. One way to counter this drop in power is by cooling the inlet air to the turbine. An increasingly popular cooling method uses high-pressure inlet fogging. The performance of a sample of 67 gas turbines augmented with high-pressure inlet fogging was investigated in the Journal of Engineering for Gas Turbines and Power (Jan. 2005). One measure of performance is heat rate (kilojoules per kilowatt per hour). Heat rates for the 67 gas turbines, saved in the GASTURBINE file, are listed in the table. Suppose that a standard gas turbine has, on average, a heat rate of 10,000 kJ/kWh.

a. Conduct a test to determine whether the mean heat rate of gas turbines augmented with high-pressure inlet fogging exceeds 10,000 kJ/kWh. Use a = .05.

b. Identify a Type I error for this study. Indentify a Type II error.

GASTURBINE


14622   13196   11948   11289   11964   10526   10387   10592   10460   10086


14628   13396   11726   11252   12449   11030   10787   10603   10144   11674


11510   10946   10508   10604   10270   10529   10360   14796   12913   12270


11842   10656   11360   11136   10814   13523   11289   11183   10951     9722


10481     9812      9669      9643     9115      9115   11588   10888     9738     9295


   9421
    9105    10233   10186     9918      9209      9532     9933     9152     9295


16243   14628   12766      8714     9469    11948   12414

ANSWERS
MS 371-372

8.48
(4 points) Prices of hybrid cars. BusinessWeek.com provides consumers with retail prices of new cars at dealers from across were obtained from a sample of 160 dealers. These 160 prices are saved in the HYBRIDCARS file.

a. Give the null and alternative hypotheses for testing whether the mean July 2006 dealer price of the Toyota Prius, m, differs from $25,000.

b. Data from the HYBRIDCARS file were analyzed with MINITAB. The resulting printout is shown below. Find and interpret the
[image: image15.wmf]-value of the test.

c. State the appropriate conclusion for the test from part a if a= .05.

d. State the appropriate conclusion for the test from part a if a= .01.

Test of mu = 25000 vs not = 25000

Variable     N
         Mean
StDev      SE Mean            95%   CI                   T            P

PRICE
     160       25476.7    2429.8          192.1    (25097.3, 25856.1)    2.48   .014

ANSWERS
8.51
(3 points) Feminizing human faces. Research published in Nature (August 27, 1998) revealed that people are more attracted to “feminized” faces, regardless of gender. In one experiment, 50 human subjects viewed both a Japanese female and a Caucasian male face on a computer. Using special computer graphics, each subject could morph the faces (by making them more feminine or masculine) until they both attained the “most attractive” face. The level of feminization 
[image: image16.wmf] (measured as a percentage) was measured.
a. For the Japanese female face. 
[image: image17.wmf] = 10.2% and 
[image: image18.wmf] = 31.3%. The researchers used this sample information to test the null hypothesis of a mean level of feminization equal to 0%. Verify that the test statistic is equal to 2.3.

b. Refer to part a. The researchers reported the 
[image: image19.wmf] 
[image: image20.wmf] .02. Verify and interpret this result.

c. For the Caucasian male face, 
[image: image21.wmf] = 15.0% and 
[image: image22.wmf] = 25.1%. The researchers reported the test statistic ( for the test of the null hypothesis stated in part 

ANSWERS
MS 378-379

8.66
(5 points) Crab spiders hiding on flowers. Refer to the Behavioral Ecology (Jan. 2005) experiment on crab spiders’ use of camouflage to hide from predators (e.g., birds) on flowers, presented in Exercise 2.36 (p.48). Researchers at the French Museum of Natural History collected a simple of 10 adult female crab spiders, each sitting on the yellow central part of a daisy, and measured the chromatic contrast between each spider and the flower. The data (for which higher values indicate a greater contrast, and, presumably, an easier detection by predators) are shown in the accompanying table. The researchers discovered that a contrast of 70 or greater allows birds to see the spider. Of interest is whether or not the true mean chromatic contrast of crab spiders on daisies is less than 70.



SPIDER


57
75
116
37
96
61
56
2
43
32

a. Define the parameter of interest, m.

b. Set up the null and alternative hypotheses of interest.

c. Find 
[image: image23.wmf] and 
[image: image24.wmf] for the sample data, and then use these values to compute the test statistic.
d. Give the rejection region for a= .10.
e. State the appropriate conclusion in the words of the problem.
ANSWERS
8.67
(2 points) Radioactive lichen. Refer to the 2003 Lichen Radionuclide Baseline Research project to monitor the level of radioactivity in lichen, presented in Exercise 7.35 (p. 324). Recall that University of Alaska researchers collected nine lichen specimens and measured the amount of the radioactive element cesium-137 (in microcuries per milliliter) in each specimen. (The natural logarithms of the data values are saved in the LICHEN file.) Assume that in previous years the mean cesium amount in lichen was m = .003 microcurie per milliliter. Is there sufficient evidence to indicate that the mean amount of cesium in lichen specimens differs from this value? Use the SAS printout below to conduct a complete test of hypothesis at a = .10.

ANSWER

8.68
(2 points) Testing a mosquito repellent. A study was conducted to evaluate the effectiveness of a new mosquito repellent designed by the U.S. Army to be applied as camouflage face paint. (Journal of the Mosquito Control Association, June 1995.) The repellent was applied to the forearm surface area of five volunteers who then were exposed to 15 active mosquitos for a 10-hour period. The percentage of the forearm surface area protected from bites (called percent repellency) was calculated for each of the five volunteers. For once color of paint (loam), the following summary statistics were obtained: 
[image: image25.wmf] = 83%  
[image: image26.wmf] = 15%

a. The new repellent is considered effective if it provides a repellency of at least 95 percent. Conduct a test to determine whether the mean repellency of the new mosquito repellent is less than 95 percent. Use a = .10

b. What assumptions are required for the hypothesis test in part a to be valid?

ANSWERS
MS 383-386

8.74
(2 points) What conditions are required for a valid large-sample test for
[image: image27.wmf]?

ANSWER

8.78
(5 points) A random sample of 100 observations is selected from a binomial population with unknown probability of success,
[image: image28.wmf]. The computed value of 
[image: image29.wmf] is equal to .74.

a. Test 
[image: image30.wmf] against 
[image: image31.wmf] Use a = .01.

b. Test 
[image: image32.wmf] against 
[image: image33.wmf] Use a = .10.

c. Test 
[image: image34.wmf] against 
[image: image35.wmf]. Use a = .05.

d. Form a 95% confidence interval for p.

e. Form a 99% confidence interval for p.

ANSWERS
8.80
(5 points) “Made in the USA” survey. Refer to the Journal of Global Business (Spring 2002) study of what “Made in the USA” means to consumers, presented in Exercise 2.13 (p. 36). Recall that 64 out of 106 randomly selected shoppers believe that “Made in the USA” means that 100% of labor and materials are from the United States. Let
[image: image36.wmf] represent the true proportion of consumers who believe “Made in the USA” means that 100% of labor and materials are from the United States.

a. Calculate a point estimate for p.

b. A claim is made that p = .70. Set up the null and alternative hypothesis to test this claim.

c. Calculate the test statistic for the test you carried out in part b.

d. Find the rejection region for the test if a = .01

e. Use the results from c and d to draw the appropriate conclusion.

ANSWERS
MS 392-394

8.95
(5 points) Suppose you want to test 
[image: image37.wmf] using against 
[image: image38.wmf] using a = .05. The population in question is normally distributed with standard deviation 120. A random sample of size
[image: image39.wmf] = 36 will be used.

a. Sketch the sampling distribution of
[image: image40.wmf], assuming that 
[image: image41.wmf] is true.

b. Find the value of 
[image: image42.wmf], that value of 
[image: image43.wmf] above which the null hypothesis will be rejected. Indicate the rejection region on your graph of part a. Shade the area above the rejection region and labeled it a. 

c. On your graph of part a, sketch the sampling distribution of 
[image: image44.wmf] if m = 1,020. Shade the area under this distribution which corresponds to the probability that
[image: image45.wmf] falls in the nonrejection region when m = 1,020. Label this area . 

d. Find b.
e. Compute the power of this test for detecting the alternative 
[image: image46.wmf]
ANSWERS
MS 397-401

8.111
(2 points) Refer to Exercise 8.110. Suppose we had 
[image: image47.wmf], 
[image: image48.wmf] = 9.4, and 
[image: image49.wmf] = 1.84.

a.    Test the null hypothesis 
[image: image50.wmf] against the alternative 
[image: image51.wmf]
ANSWER

8.113
(3 points) Latex allergy in health-care workers. Refer to the Current Allergy & Clinical Immunology (March 2004) study of n = 46 hospital employees who were diagnosed with a latex allergy from exposure to the powder on laex gloves, presented in Exercise 8.26 (p. 364). Recall that the number of latex gloves used per week by the sampled workers is summarized as follows: 
[image: image52.wmf] = 19.3 and 
[image: image53.wmf] = 11.9. Let 
[image: image54.wmf] represent the variance in the number of latex gloves used per week by all hospital employees. Consider testing 
[image: image55.wmf] against 
[image: image56.wmf].

a. Give the rejection region for the test at a significance level of a = .01.

b. Calculate the value of the test statistic.

c. Use the results from parts a and b to draw the appropriate conclusion.

ANSWER

Total points: 56
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